Quiz Tor

i Problems I through 6 deal with the RL civcuit of Fig. 3.7.7, a
iiseries circuir containing an inductor with an inductance of L
henries, a vesistor with a resistance of R ohms, and a source of
Lelectromotive Jorce (emf), but no capacitor. In this case Eq.(2)
._"'ir_ecfube,si' 1o the linear first-order equation

LI'+ RI = E{n).

FIGURE 3.7.7. The circuit for
Problems 1 through 6.

Juthe cireuit of Fig, 3.7.7, suppose that L = 5 H, k=25
§2, and the source E of emf is a battery supplying 100 V
10 the circuit. Suppose also that the switch has been in po-
Sition 1 for a long time, so that a steady current of 4 A is
Howing in the circuit. At time r = 0, the switch is thrown
;0 Position 2, so that J{0) =4 and E = 0 for ¢ Z 0. Find
L.
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